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TwoRd F—J8 GLy G (ton) Fyp1 F—78 G GnD D (mm) E(mm) F(mm) G(mm) H(mm) B
75X1S 75X1S0 75 12 0.5 300 275 87 40 1.7 12 24 14 20 30 7,000
100X1S 100X1SO 100 14 1 345 318 112 50 32 17 26 18 25 40 8,750

125X1S 125X1S0O 125 16 15 395 367 140 56 5 20 28 22 30 43 14,250

150X1S 150X1SO 150 20 2 465 438 168 60 83 28 32 28 35 50 21,750

175X1S 175X1SO 175 22 3 530 490 190 70 12 32 3 30 35 50 33,250

200X1S 200X1SO 200 25 4 615 575 205 78 18 38 38 35 40 55 43,500
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75X2S 75X2SO0 75 12 05 300 275 87 65 3 12 24 14 20 30 10,250

100X2S 100X2SO 100 14 1 345 318 112 79 47 17 26 18 25 40 14,000

125X28 125X2S0 125 16 15 395 367 140 93 8 20 28 22 30 43 23,900

150X2S 150X2S0O 150 20 2 465 438 168 105 135 28 32 28 35 50 35,750

175X28 175X2S0 175 22 3 530 490 190 120 175 32 35 30 35 50 46,000

200X2S 200X2SO 200 25 4 615 575 205 130 25 38 38 35 40 55 64,000
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75X1B 75X1BO 75 12 0.5 300 275 87 40 1.65 12 6,300
100X1B 100x1BO 100 14 1 345 318 112 50 3.1 17 8,400
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K-75 — 75 12 28 12 20 21 5 2,200
K-100 — 100 17 44 14 24 26 7 3,400
K-125 — 125 20 55 16 27 29 10 5,000
K-150 — 150 28 64 20 33 35 12 10,000
K-175 — 175 32 72 22 39 41 14 12,250
K-200 200 38 75 25 42 43 15 16,500
K-75B RXPUVIAD 75 12(6201Z22%) 11 20 21 7 5,925
K-100B NFPUVIAD 100 17 (6203Z2%) 15 24 26 8 8,325
K-125B NPUVIAD 125 20(620472%) 20 27 29 12 12,400




